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Question Number : 1 Question Id : 2549896868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The code originally used in personal computers is

Options :
1. # Octal
2. % EBCDIC
3. ¥ ASCII

4. % Unicode

Question Number : 1 Question Id : 2549896868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® 3fieea

2. * EBCDIC



3. ¥ ASCII

4. % s

Question Number : 2 Question Id : 2549897246 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following directories contains executable program files in Linux?

Options :
1. % Jusr
2. %* /dev
3. % /tmp

4.+ /bin

Question Number : 2 Question Id : 2549897246 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % Jusr
2. % /dev
3. % /tmp

4.+ /bin

Question Number : 3 Question Id : 2549897577 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is a byte?

Options :

1. Group of 8 bits
2. # Group of 4 bits
3. ¥ Group of 16 bits

4. #* Group of 32 bits

Question Number : 3 Question Id : 2549897577 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
a15e (byte) T 82

Options:

1. ¢ 8 fdca o1 ag
2. ¥ 4 focq 1 ugg
3. ® 16 focy o1 9qg

4, % 32 fdcq &1 998

Question Number : 4 Question Id : 2549897835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a database application?

Options :



1. ® Dbase
2. % Flash
3. * Fox pro

4, % Access

Question Number : 4 Question Id : 2549897835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3199 (Dbase)

2. ¢ a1 (Flash)

3. % wiaq Wt (Fox pro)

4. % Uy (Access)

Question Number : 5 Question Id : 2549897920 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Choose the Hexadecimal color code for red.

Options :

1. % #FF0000
2. # #00OFFOO
3. % #0000FF

4. % #FFFFFF



Question Number : 5 Question Id : 2549897920 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1.« #FFO000
2. ® #0OFFOO
3. # #0000FF

4. % #FFFFFF

Question Number : 6 Question Id : 2549898435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What will be the output after applying the Function BASE(15,2) in MS-Excel?

Options:
1. % 1100
2. # 111 000
3.4 1111

4. % 1111 0000

Question Number : 6 Question Id : 2549898435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 1100
2. % 111 000
3. 1111

4. % 1111 0000

Question Number : 7 Question Id : 2549899345 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Other than the Caps Lock key, which of the following keyboard keys can be used to insert

uppercase letters in the document?

Options :
1. * Escape
2. ¥ Shift
3. ¥ Control

4. % Tab

Question Number : 7 Question Id : 2549899345 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. * Escape

2. ¥ Shift



3. % Control

4. * Tab

Question Number : 8 Question Id : 25498930223 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What does ARP stands for?

Options :

1. % Address Resolution Protocol
2. * Area Resolution Protocol

3. * Audio Resolution Protocol

4. % Address Revision Protocol

Question Number : 8 Question Id : 25498930223 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Address Resolution Protocol (Tg9 STiegs Hieihie)
2. ¥ Area Resolution Protocol (TRar 3sieger Uictenre)

3. ¥ Audio Resolution Protocol (3iifeat IeTegs Hiciehia)

4. % Address Revision Protocol (Y9 Rfas uieiaid)

Question Number : 9 Question Id : 25498930631 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A CPU repeatedly performs the fetch, decode and execute steps in its operations which is

collectively known as:

Options :

1. * write cycle

2. ® data cycle

3. ¥ instruction cycle

4. * DMA cycle

Question Number : 9 Question Id : 25498930631 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ g 9k (Write Cycle)

2. % 319k (Data Cycle)

3. ¢ fAds1 9w (Instruction Cycle)

4. ¥ DMA 3¢k (DMA Cycle)

Question Number : 10 Question Id : 25498930673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The sound card can be installedin_____ of a motherboard. Choose from below whichever options
that can be used to fill in the blank.

1. PCI slot

2. ISA slot

3. PCI express slot

4. EISA slot

Options :

1. 1or2or3
2.% 1or3o0r4
3.% lor2or4

4, % 2or3or4

Question Number : 10 Question Id : 25498930673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1. e wire

2. EYHY Tle

3. YTEitans gomy wile

4. 33309y Wile

Options :

1. 13912313

2.% 113414

3.% 1312914

4. % 2913914



Question Number : 11 Question Id : 25498930984 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Expand SAN?

Options :

1. * Sub Area network

2. % Standard Area Network
3. ¥ Storage Area Network

4. *# Storage Aided Network

Question Number : 11 Question Id : 25498930984 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % Sub Area network (9« TRar Aedh)

2. % Standard Area network (¥Usg TRAT Aeadh)
3. ¢ Storage Area Network (&R<T gRar Acadh)

4. % Storage Aided Network (RS (e Acddh)

Question Number : 12 Question Id : 25498933063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

tablet uses a stylus that generates clicks with a spark plug.



Options :
1. % Artistic
2. % Optic
3. ¥ Spark

4, = Laser

Question Number : 12 Question Id : 25498933063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® ShdATcHeh (SMffean)
2. % yganfiy (siffeeen)
3. ¥ Wik

4. % ASR

Question Number : 13 Question Id : 25498933191 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Hexadecimal refers to the number system.

Options:
1. ¥ base-10
2. ¥ base-16

3. # base-8



4. % pbase-15

Question Number : 13 Question Id : 25498933191 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ 99-10
2. ¥ 39-16
3. % d49-8

4. % 39-15

Question Number : 14 Question Id : 25498933827 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a network topology type?

Options :
1.4 Tree
2. % Bench
3. #* Desk

4. % Chair

Question Number : 14 Question Id : 25498933827 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options:

1.¢8

A

2. % d9
3. % S

4. % R

Question Number : 15 Question Id : 25498934844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following type(s) of beams is/are used in CRT monitors?

Options:

1. ¥ Neutron beams
2. ¥ Proton beams
3. ¥ Electron beams

4. % Neutron and proton beams

Question Number : 15 Question Id : 25498934844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® gl o=

2.



% ot e
3. ¥ Fetae A d

4, % g R Ui =g

Question Number : 16 Question Id : 2549897793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
switching is the method by which the Internet works.

Options :

1. ¥ Packet

2. # Telephone
3. * Circuit

4. * Telex

Question Number : 16 Question Id : 2549897793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. Qahe

2. ¥ At

3. ¥ gfche

4. % e



Question Number : 17 Question Id : 2549899437 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A printer is an output device that prints the output on a

Options :

1. % monitor
2. ¥ paper

3. ¥ pendrive

4, # keyboard

Question Number : 17 Question Id : 2549899437 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ AR
2. ¥ T
3. ®¥ 09 g3a

4. % HOrS

Question Number : 18 Question Id : 2549899504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a pointing device of a computer?



Options :

1. ¥ Mouse

2. % Keyboard
3. ¥ Game-pad

4. % Printer

Question Number : 18 Question Id : 2549899504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ 4139
2. % fars
3. ¥ 90

4. % e

Question Number : 19 Question Id : 25498910860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
printers produce highest quality printed output.

Options:
1. * Chain
2. * Dot matrix

3. # Inkjet



4. % Laser

Question Number : 19 Question Id : 25498910860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Jg9

2. % gic Afeey
3. ¥ gepoic

4, ¥ AR

Question Number : 20 Question Id : 25498911133 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A bank's code number and cheque number printed on the cheques can be detected by a/an

reader.

Options :
1. # OCR
2. ® smart card
3. ¥ MICR

4. * barcode

Question Number : 20 Question Id : 25498911133 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. *# OCR
2. % W& RS
3. ¥ MICR

4. % gR&IS

Question Number : 21 Question Id : 25498911227 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a storage device?

Options :

1. % CD ROM
2. % DVD

3. ¥ Plotter

4. * Flash drive

Question Number : 21 Question Id : 25498911227 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * CD ROM



2. % DVD

)

3. ¥ WX

4, % UL §18d

Question Number : 22 Question Id : 25498911234 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The diameter of a standard CD is

Options :

1. % 70 mm
2. % 80mm
3.4 120 mm

4, # 180 mm

Question Number : 22 Question Id : 25498911234 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 70 mm
2. % 80mm
3.9 120 mm

4, # 180 mm



Question Number : 23 Question Id : 25498913414 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a file compression software?

Options :
1. % WinZip
2. % WinRar
3. % 7-Zip

4. ¢ File Zipper

Question Number : 23 Question Id : 25498913414 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ fgafsia (Winzip)
2. % fGRR (WinRar)
3. ® 7-f31U (Zip)

4. ¢ wgd IR (File Zipper)

Question Number : 24 Question Id : 25498913490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Raster (bitmap) images require resolutions for smooth appearance.



Options :

1. ¢ higher
2. % low

3. * very low

4. % distorted

Question Number : 24 Question Id : 25498913490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ IR
2. %
3. ® ggd A

4. % fapa

Question Number : 25 Question Id : 25498913836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The SHA are a family of cryptographic hash functions published by the National Institute of
Standards and Technology (NIST).

Here, SHA stands for:

Options :

1. % Secure Hash Algorithms



2. # Simple Hash Algorithms
3. #* Secure Hidden Algorithms

4. % Secret Hash Algorithms

Question Number : 25 Question Id : 25498913836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Tgl, SHA @l 319 &:

Options:

1. ¢ AR 31 Ty (Secure Hash Algorithm)

2. % g g1 Termikyd (Simple Hash Algorithm)

3. % QR fge temiRy# (Secure Hidden Algorithm)

4. ¥ Hiche 1 TIRYH (Secret Hash Algorithm)

Question Number : 26 Question Id : 25498918503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Decimal equivalent of (23)s:

Options:
1.4 19
2. % 32

3. %23



4. % 91

Question Number : 26 Question Id : 25498918503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1.4 19
2. % 32
3. % 23

4. % 91

Question Number : 27 Question Id : 25498919285 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Network-based interface devices such as switches and routers can block incoming or outgoing

requests based on

Options :

1. % IP address

2. % MAC address

3. * Machine name and IP address

4. % QOperating system

Question Number : 27 Question Id : 25498919285 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ IPged
2. ¥ MAC Ug9

3. % mfi o1 A\ IR IP Ted

4. % AR feeq

Question Number : 28 Question Id : 25498924584 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the extension for a Java class file?

Options :
1. % java
2. ¥ class
3. % jvm

4. % jdk

Question Number : 28 Question Id : 25498924584 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:



1. % java
2. ¥ class
3. % jvm

4. % jdk

Question Number : 29 Question Id : 25498938497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is a software that gathers information about a person or organisation without their

knowledge.

Options:

1. ¥ Spyware

2. ¥ Malware

3. ¥ Ad-Aware

4. % Trojan Horse

Question Number : 29 Question Id : 25498938497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ WEAWR



4, % TS g

Question Number : 30 Question Id : 25498940410 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
is a set of instructions that directs the computer to process information.

Options :

1. % Compiler
2. ¥ Software
3. * Hardware

4. % CPU

Question Number : 30 Question Id : 25498940410 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. # HUIEeR

2. ¢ FIoedmR

3. ¥ greaR

4, % Hidig (CPU)

Question Number : 31 Question Id : 2549896408 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
A is @ computer that is accessible over a network.

Options:

1. % host

2. % address
3. * IP address

4. % URL's address

Question Number : 31 Question Id : 2549896408 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ g

2. % g9

3. ¥ I[P T
4. ¥ URL Ted

Question Number : 32 Question Id : 2549896517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A/an is the term used when a search engine displays a web page that matches the search

criteria.

Options :

1. # blog



2. % information
3. ¥ link

4, # view

Question Number : 32 Question Id : 2549896517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. & s

2. % gapuE

3. ¢ fois

Question Number : 33 Question Id : 2549896642 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
An area of memory or disk that is assigned to store email messages sent by other users is called:

Options :

1. # post-email
2. * postbox
3. * outbox

4. ¥ mailbox



Question Number : 33 Question Id : 2549896642 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ URe-38d

Question Number : 34 Question Id : 2549896775 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Internet Explorer, Mozilla Firefox and Google Chrome are the examples of:

Options :

1. # presentation applications
2. * backup

3. ¥ browsers

4. % operating systems

Question Number : 34 Question Id : 2549896775 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



3e3E YRR (Internet explorer), AIfSIAT hrRWie (Mozilla Firefox) 3R T0Tet shid (Google chrome)
% I B

Options :

1. ¥ gofés™ ufwrehe=
2. % oo

3. ¥ §I3SRR

4. % AR feq

Question Number : 35 Question Id : 2549897440 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
When you apply drop cap function on a paragraph how many lines will it drop by default?

Options :

1.3

Question Number : 35 Question Id : 2549897440 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1.9 3



Question Number : 36 Question Id : 2549897706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the backbone of the World Wide Web (WWW)?

Options :
1. HTTP
2. % FTP

3. ¥ SMTP

4., # Router

Question Number : 36 Question Id : 2549897706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. HTTP
2. % FTP

3. % SMTP

4. = Router



Question Number : 37 Question Id : 2549897942 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In MS-Excel, which function returns the serial number of the current date and time

Options :
1. % NOW
2. % TIME
3. # DATE

4. = DATETIME

Question Number : 37 Question Id : 2549897942 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % NOW
2. % TIME
3. # DATE

4. #* DATETIME

Question Number : 38 Question Id : 2549897989 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
BHIM is developed by the

Options :



1. ¢ National Payment Corporation of India
2. # National Informatics Center
3. # National Psychological Corporation

4. # National Productivity Council

Question Number : 38 Question Id : 2549897989 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ YR TE o= AT (National Payment Corporation of India)
2. % g ga-1 fag o (National Informatics Center)

3. ¥ g w=dFes fAmH (National Psychological Corporation)

4. % P IdTGhdT uikug (National Productivity Council)

Question Number : 39 Question Id : 2549898965 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What does .com domain specify?

Options :

1. % Commercial enterprise
2. # Network

3. # Military site

4. ¥ Educational site



Question Number : 39 Question Id : 2549898965 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ oIy IushA
2. ¥ qegdh

3. % g9

4., % Afeyes grge

Question Number : 40 Question Id : 25498910432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

To use a keyboard shortcut to change between lowercase, uppercase, and capitalise each word,

select the text and press until the case you want is applied.

Options:

1.9 SHIFT + F3
2. % SHIFT + F4
3. ® SHIFT + F5

4. % SHIFT + F6

Question Number : 40 Question Id : 25498910432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :

1. SHIFT + F3
2. % SHIFT + F4
3. ® SHIFT + F5

4. % SHIFT + F6

Question Number : 41 Question Id : 25498910588 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following protocols is used for establishing internet communcations?

Options:
1. % FTP

2. ® HTTP
3. # SMTP

4.+ TCP

Question Number : 41 Question Id : 25498910588 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % FTP



2. % HTTP
3. # SMTP

4.+ TCP

Question Number : 42 Question Id : 25498910709 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
OSI stands for?

Options :

1. % Open Systems Interconnection
2. * Open Storage Interconnection
3. # Other State Interconnection

4. # Other Storage Interaction

Question Number : 42 Question Id : 25498910709 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 3 R §exap—a’™ (Open Systems Interconnection)
2. % 3iue WS 3exeha=M (Open Storage Interconnection)
3. ¥ 3R We a9’ (Other State Interconnection )

4. ¥ 3R WRS 3¢ (Other Storage Interaction)



Question Number : 43 Question Id : 25498910728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Choose a type of Bridge from the following?

Options :

1. % Source Routing Bridge

2. % Sample Bridge

3. ¥ Destination Routing Bridge

4. * Path Routing Bridge

Question Number : 43 Question Id : 25498910728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ &iq A1 fost (Source Routing Bridge)

2. % Qo fosT (Sample Bridge)

3. ¥ 7ideg TS forT (Destination Routing Bridge)

4. ® gy ASfw fast (Path Routing Bridge)

Question Number : 44 Question Id : 25498911458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which one is not a type of Hub?



Options :

1. ¢ Simple Hub
2. % Active Hub

3. #* Passive Hub

4. # Intelligent Hub

Question Number : 44 Question Id : 25498911458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ e ga
2. % gfaga
3. % df¥g g«

4. % Dfrde s

Question Number : 45 Question Id : 25498911486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

DSL is a communication medium, which is used to transfer internet through wire

telecommunication line.

Options :
1. # fibre optic

2. * aluminium



3. # zinc

4. ¥ copper

Question Number : 45 Question Id : 25498911486 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % IR Jdfeeh

2. ¥ gogHifaag
3. ® S

4. Jian

Question Number : 46 Question Id : 25498911917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is @ passage to connect two networks together that may work upon different networking

models.

Options:

1. ¥ Gateway
2. % Router
3. * Junction

4. #® Switch



Question Number : 46 Question Id : 25498911917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Ttea (Gateway)
2. ¥ 73X (Router)
3. ® Sa=M (Junction)

4. % &= (Switch)

Question Number : 47 Question Id : 25498911968 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What does UTP stands for in Transmission Media?

Options:

1. ¥ Unshielded Twisted Pair
2. * Universally Twisted Pair
3. ¥ Unit Twisted Pair

4. % Unshielded Tin Pair

Question Number : 47 Question Id : 25498911968 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Unshielded Twisted Pair (3Hfcee gfawe 0aR)
2. ® Universally Twisted Pair (gf-aicl gfows o)
3. ® Unit Twisted Pair (ZfAe zfawe 9IR)

4. % Unshielded Tin Pair (sMfces fea 1)

Question Number : 48 Question Id : 25498912503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following tabs on the ribbon displays the header and footer commands?

Options :

1. ¥ Home

2. # Page layout
3. # View

4. « Insert

Question Number : 48 Question Id : 25498912503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % gW

2. % 09 d3rmse

3. % g



4. v 3¢

Question Number : 49 Question Id : 25498919162 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the full form of JPG/JPEG?

Options :

1. % Joint Photographic Expert Group
2. * Joint Picture Expert Group

3. # Joint Photographic Expert Graph

4. # Joint Picture Expert Graph

Question Number : 49 Question Id : 25498919162 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Siigc WicHfthes YoRAUE U

2. % Siige fUeR gequd qu

3. ¥ Sige Wicithe ToRIUE TTh

4, % Sifge =R Tagus Tk

Question Number : 50 Question Id : 25498932142 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Using , students can attend lectures and training from different locations.

Options:

1. % videoconferencing
2. % blog

3. * chatting

4. % email

Question Number : 50 Question Id : 25498932142 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ difSat sprthf=T
2. ¥ &
3. ® Afdw

4. ® A

Question Number : 51 Question Id : 25498933766 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
1Tbps =

Options :

1. % 1024 Mbps

2.



% 1024 Kbps
3. ¥ 1024 Gbps

4. % 1024 bps

Question Number : 51 Question Id : 25498933766 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1Tbps =

Options :

1. % 1024 Mbps
2. % 1024 Kbps
3. % 1024 Gbps

4, #® 1024 bps

Question Number : 52 Question Id : 25498934466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Excel, the function returns the logical value TRUE if the specified value is text. Otherwise

returns FALSE.

Options :

1. % ISTEXT

2. % ISNUMBER
3. # ISREF

4. % ISNONTEXT



Question Number : 52 Question Id : 25498934466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1.9 ISTEXT

2. % ISNUMBER
3. # ISREF

4. % ISNONTEXT
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Question Id : 25498921259 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Not many young people can say that they have travelled through all the states in India. I can. The
reason being that my parents always loved to travel. We started off as a young family of four.
Being a middle class family, our travels had to be kept at a low cost. But we spared no effort in
making the most of each trip. Starting from our trips to Munnar and Khajjiar at the very young age
of three, to places like Jaisalmer, Arunachal Pradesh and Bhutan, which were not so touristy in the
nineties, at the age of 9-10 (my sister being 4 years old), we had covered the whole country by the

time Iwas 17.

My parents always planned their trips themselves. We never took the services of a travel agent.
We didn’t even ask for any suggestions. My parents would actively involve me in the planning by
showing me, on a map, the places we would be visiting and explaining how we would reach there
and what we could do at each place.

Once we travelled from Raipur (Chhattisgarh) to Jaisalmer via Jaipur (Rajasthan), covering a
distance of almost 2400 kilometers traversing through the nothingness of Madhya Pradesh, the
scary Chambal Valley and through endless sand dunes. It was an amazing journey which gave us
an opportunity to get more closely bonded with each other as a family and perhaps truly

understand each other more closely.

Eating the local food, visiting traditional markets, travelling in public transport, communicating in
the local language are all things that I have learned to love. These travels have taught me life skills
that I would not have otherwise acquired. Being a middle class family, we did not stay in resorts
with pools, but being kids we always wanted to get into the water and play. So instead of pools my
parents took us to lakes, rivers and the sea. By jumping into the Bay of Bengal at the age of 5 and
trying to swim in Chilka Lake (the largest coastal lagoon) at the age of 11, I learnt to swim. I have
not looked back since. Today I am a proficient scuba diver because I am fearless with water

bodies.

Sub questions



Question Number : 53 Question Id : 25498921260 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The author was able to see the whole of India by the time he was seventeen because:

Options :

1. # he belonged to a middle class family

2. ¥ he started travelling at a young age with his parents
3. # his parents would plan the trips themselves

4. # they travelled 2400 km across Rajasthan and Madhya Pradesh

Question Number : 54 Question Id : 25498921261 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Being a middle class family, the author says his family:

Options :

1. * could not travel very often

2. * could not play in water

3. ¥ never took the help of a travel agent to plan their trips

4. *# could stay in a resort

Question Number : 55 Question Id : 25498921262 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following places did NOT attract many tourists some twenty years ago?



Options :

1. %* Jaipur

2. ¥ Bhutan

3. ®* Munnar

4. # Khaijjiar

Question Number : 56 Question Id : 25498921263 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following life skills is NOT mentioned by the narrator in the passage?

Options :

1. % Communicating in the local language
2. * Swimming in rivers and lakes

3. * Travelling in public transport

4. # Critical and creative thinking

Question Number : 57 Question Id : 25498921264 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What would be the most suitable title for this passage?

Options :
1. # The Educative Value of Travelling
2. ¥ Travelling All Over India

3. # Planning a Trip
4,



# Low cost holidays

Question Id : 25498921259 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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1. % gg Ueh " if o gRIR 9 G&fda 47|
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1. ¥ IR T AT T HenT |

2. % gt 7 981 @t g
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Options :

1. ¥ SR



2. ¥ o gH
3. % gaR

4. % GfOOR
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Options :

1. % WYHER 9T H R

2. % et 3R sl # Avreht
3. ® grdeifer gReg # g

4, « IATA-TcHe 3R TTcHh T
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3. ¥ o &1 SmateH

4., % gy Wt e
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If the numerator of a fraction is increased by 150% and the denominator of the fraction is increased by 350%, the

resultant fraction is g What is the original fraction?
Options:

13
1. % 17

11
2 % 15
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11
1. % 17

{3

15

13
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3 1135

Which of the options give the value nearest toc X —oX77?

Options :
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Options :
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A bag contains 13 white and 7 black balls. Two balls are drawn at random. What is the probability

that they are of the same colour?
Options:

41
1 % 190



21
5> % 190

59
3. % 190

99
4.+ 190
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Options :

41
1 % 190

21
5 % 190

59
3 % 190

99
4 v 190
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The average of a number and its square is 10 times the number. What is the number?

Options :
1.%9
2. % 15
3. % 18

4.4 19
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Options:

1.% 9

5 % 15

3 % 18

4.v 19
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From two places x and y, 60 km apart, A starts from x towards ¥ and B starts from y towards x and they
meet after 6 hours. Had A travelled até of his speed and B travelled at double his speed, they would

have met after 5 hours. The difference between their speeds (in km/h) is:

Options:
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g1 afe A, STt A= 97 <t 2/3 AT & 3R B 37T AT AT <hl QR 91t & T, @t 5 ¢ 91 fAerd |
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Options :
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The shadow of a flagstaff is 3 times as long as it appears when the sun’s rays meet the ground at an angle of 60°. If
(14sech)

cosec

6 is the angle between the sun’s rays and the ground at the time of the longer shadow, then the value of
is:
Options:

1
1. % 6

(2+3V3)

1

1
3 %6

(2 +3)

1

4w3@+ﬁﬂ
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Options :

o =(2+3V3)



- = (3+2V3)
. H2+V3)

L. 134V
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Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to

the first word.

Butter : Milk :: Book : ?

Options :

1. # Author
2. * Printing
3. # Chapter

4. ¥ Paper
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HRA- . q¥ ;i g&dch : ?

Options :
1. ¥ @
2. % fufdw
3. #® ey

4, & ATl
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Study the given arrangement of letters, digits and symbols and answer the question that follows.
2PJ]@8%$LB1V#Q68GWIOKCDO-£5FR7AY4

P@LisrelatedtoY 75 in the same way as $ 1 # is related to:

Options :

1. #* REO©

2. % F£3

3.#5£0

4.4FD

Question Number : 65 Question Id : 25498912856 Question Type : MCQ Option Shuffling : Yes
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37&R, 3fepl 3R Ucftent <ht &Y 713 g ohT 3rede o 3R = o U ust &1 IR 2

2PJ]@8%$LB1V#Q68GWIOKCDO-£5FR7AY4

P@L, Y7593 R deifdd 8 g uasr $ 1 #, 4 geifda 1

Options:
1.* R£EO
2. % F£3
3.#5£0

4. F<D
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: N.A Think Time : N.A Minimum Instruction Time : 0
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Unscramble the letters in each of the given options to form meaningful words, and then select the

word that is different from the rest.

Options :

1. # STERIS

2. * TORREBH
3. % NUTA

4.+ LINOVI

Question Number : 66 Question Id : 25498914087 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :

1. # STERIS

2. #* TORREBH
3. % NUTA

4.« LINOVI
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:N.A Think Time : N.A Minimum Instruction Time: 0
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Select two words (from 1, 2, 3, 4 and A, B, C, D) related to the pair of words already given - one

word for each of the two given words.



I: Flower :: Milky Way : I
I. (1) Garden (2) Plant (3) Fruit (4) Petals
I1. (A) Galaxy (B) Universe (C) Planet (D) Sky

Options :
1. % 1A
2. % 4C
3.% 1B

4. % 3D
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Ugat & iy 71T real & g @ Tafda ot areat (1, 2, 3, 4 3R A, B, C, D & @) o1 9a- & - 3T 1Y &t 2recl & @ udh
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I : Tt :: STTRIRAAT : 11
L (1) &R (2) e (3) et (4) Ugfeai
1L (A) Ao (B) sigrie (C) 7 (D) Stemar

Options :
1. % 1A
2. ¥ 4AC
3. % 1B

4. % 3D
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Select the word from the options that is similar to the given set of words in a certain way and

hence belongs to the same group.

Sodium : Potassium : Zinc

Options :

1. # Sulphur
2. ¥ Calcium
3. * Water

4. % Jodine

Question Number : 68 Question Id : 25498919006 Question Type : MCQ Option Shuffling : Yes
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qifeas : giefas ; srean
Options:

1. #® Tiyeh

2. ¥ HfRrgH
3. % St

4. % e
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Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.

Options :
1. # Lake
2. % Sea

3. ¥ River

4. % Pool

Question Number : 69 Question Id : 25498919841 Question Type : MCQ Option Shuffling : Yes
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Options :
1. % g
2. ® gR
3. ¥
4, % qrerd
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Who said, "Freedom is not given - it is taken"?

Options :

1. # Jawaharlal Nehru

2. ¥ Subhash Chandra Bose
3. ¥ Mahatma Gandhi

4. * Maulana Abul Kalam Aazad
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
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Options :

1. ® SATEIAT Ag®



2. ¥ gAY 9g I
3. ¥ wHgrenr wieht

4. ¥ HIAHT LA hellH STG
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The largest river in Peninsular India is:

Options :

1. * Narmada
2. ¥ Godavari
3. ¥ Mahanadi

4. * Cauvery

Question Number : 71 Question Id : 2549899657 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :
1. % e
2. ¢ TMerEdt
3. % wgrdl

4. % A
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The National Biodiversity Authority is located at:

Options :

1. * Puducherry
2. ¥ Mangalore
3. ¥ Hyderabad

4.« Chennai

Question Number : 72 Question Id : 25498912553 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options:
1. % gt

2. ® HER
3. ¥ gXETe

4, « 343
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Which of the following is a slipper shaped animal?



Options :

1. * Amoeba

2. ¥ Paramoecium
3. % Trypanosoma

4. * Euglena

Question Number : 73 Question Id : 25498922824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :
1. % arfan
2. ¢ WRrfifaH
3. ® grgu=aHT

4. % e
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Which of the following organisations issues the rules of global trade?

Options:
1. ¥ World Bank
2. ¥ World Trade Organisation

3. * Foreign Exchange Dealers' Association



4. # Directorate General And Foreign Trade
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Options:

1. % fag d& (World Bank)

2. ¢ Iy =R d@7e4 (World Trade Organisation)

3. % fad=ft qg1 Stord THifiger (Foreign Exchange Dealers' Association)

4, ¥ wgrAderme™d R fader &R (Directorate General And Foreign Trade)
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With reference to the Constitution of India, in which of the following is the promotion of

international peace and security mentioned?

Options:

1. ¥ Preamble to the Constitution

2. ¥ Directive principles of state policy
3. #* Fundamental Duties

4. % The Ninth Schedule
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Options :
1. * Gfaeym Fi gedramT
2. ¢ gt ok Aifa fAderes Rigid

3. ¥ Oifae sded

4. % et srgeeht
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Question Number : 77 Question Id : 25498941457 Question Type : TYPING TEST Display
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Adversity is the test of character. The weak and the infirm break into pieces and are grinded
to powder in the mill of adversity. But the real man who has real strength of character
emerges out as an even stronger and firmer creation of God. We learn to suffer with dignity
and forbearance so that we become noble and brave. Pursued and persuaded by adversity
we learn to fight and face the world alone without relying on fair weather friends. It is
adversity that keeps the human in us alive. In days of hay and sunshine we are apt to get
lost in the glory and honour and grow indifferent to human feelings and sufferings. But
when adversity strikes we learn to be humble and sympathetic. Perseverance can change
failure into success. Favourable and adverse situations should not be taken as separate
concepts. These are mutually dependent and can be as fruitful as harmful. The harmful
effects can be nullified through mental reconditioning. A wise man treats all situations with
equanimity. Thus it is only in times of adversity that a human soul transcends and rises
above the mundane forms of life. It makes the soul sublime because prosperity easily brings
in vice but it is adversity that discovers the virtue. No matter how detestable and
disagreeable adversity seems to people yet the poet tells us that adversity is not without
any use. The experiences from a shallow perspective may seem bitter during adverse times
yet the poet tells us that its uses are sweet. Life would be dull and uninteresting without
shades and hues of different colours. Night follows day and winter is followed by spring
likewise the cycle of life also varies. Where there are deep valleys there are peaks as well.
Ups and downs and pleasure and pain make the warp and woof of life. It is the sunshine and
the cloudy days that make life interesting and worth living. Difficulties disappear when they
are faced boldly. They are like thieves who run for their lives when confronted. Everest was
conquered by people who faced dangers on their way but persisted to reach the summit.
Great people like Socrates had to suffer a lot but they did not refrain from following their
ideologies. Some of the most famous books in history were penned in jail or difficult
circumstances. Discovery of America by Columbus was an arduous task but he did not bow
down before the dangers that the route threw on him. Prosperity harbours good fortune
and great number of friends but adversity has its own uses in life. It is easy to stand on a
pulpit to preach sermons on various virtues during the time of prosperity. But it is the storm

of adverse times and circumstances that tests the real calibre and strength of a person.



Adversity acts like a furnace or a kiln which tests and tries gold to make it purer and better
by separating dross from it. It is adversity that teaches us to be patient and strong. It is only
when we have to fight the circumstances that we turn to the best capacities and abilities in
us. It is adversity that tests our will power and determination. It teaches us virtues of

fortitude and forbearing. It also stretches our limits.
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